PR AR PR IR ER()R12-13% 2 6 %

_ 7 ¥AEH 6H- 2 NAR ¥ A v
ED 3R A 17 (1 )
L/14| - [2Zte| FRF 0 | £008 1| BEER |45z 50 4.6 2.5 (2.0 (3.0 715
11/15) = [ ket & [ ke | 2 Y 3| F 70 F (£ #F| k% |45 2 | 2 [2.4[1.0 699
11/16 = HER R e A BT R 2N RF | & 4.3 2 [1.6]2.5 1.0 | 752
LI/AT) w | ek A | §F ke REET | FWFFE |9 FRHGF| k% [4.6|12.5( 2 3 [1.0 775
11/18] I | @& ¢ |Wrges | @Y T |FBALYE|(sacdtp 4.7(2.211.9( 2.5 672
121 — | $ & (2ol R 455 FEEE |vBls A E 4.6 12.5 (2.0 2.5 692
11722 = |4k |doce | o Fle F | R FF (KN FE£FF K% (45023 12.0(3.0 (1.0 751
11723 = BHFRS S FER - ZHBEFTF - ZLFe X iﬁ442&1w 2.2 668
11724 w | HEAK |BREr BT 5% TR F |ZAHP| K% (46 (2.3(2.0]2.0 (1.0 713
11725 T | /A | A FF a0 | 4 RBE | F L E |5 Anzia 4.7 (2.5 (2.0 [2.2 686
11/28] — |2xipms| BEGek |[RERS | PaEE |FgevF 4.6 12.5 (2.0 (2.3 683
11/729) = | #sh A [& 4588 4 B | 385258 | 20 0kF | k% |43 (2.2 (2.0 (2.7 (1.0 715
11730 = |ERYMKER ~Facwh K~ A BEFF -4 AARE [0 |41(2.01.4]2.0 1.0 | 698

Xk = B
r““gﬂiﬂﬁééwi%%ﬁﬁﬁwg’ﬁ—ﬁﬂum,x;ﬁﬂyw,yﬂaﬁﬁ@
FRERPRSL LT RO

3 e N

1R P o h @ 50 mw AR » B A0 T i Bry hFn B > 3 B3 H
g4 - Azrg o

2. RHA LAY AT E B A D ERATEN L TR R R L H R
FIAE RFILTF 0 B LK AT BRI AT e~
31BN RN G AR e, RN EFEIE S 5 U E X F LG e E o

XE 54 eny %

AN AR R i T RS SR B X R A A AR AR L
AT EHAT > 7RG Rimie s St & zgan;ﬁj»_» BAE A rh L F
Z_w-3% B % Apfrip Bﬁﬁ’?{—DHA'frEPA BEPR BN ,d7 Fg ~ Pk R R 0 R0
AR BT RS 6 o BT RS P R (Ao sT R RN S
%) @ DHA» {%”mﬁ\%‘rv’ ‘mﬁeﬂg_m:,\/,,\zzf#;w‘jé @R ggﬁgg*ﬂﬁﬁfr, BEpEg
'f‘fg Ao A ENTE L 0 ¥IN PRSI AT S R RGO S B T { A3 7 AR mj}-,,?ﬁ‘o

YD SN

o ome A
o
WT‘Q 5

7

E)
]
\-T‘q_ N
& o=

o
s T “

o




